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Which One Doesn't Belong - Kinematics

Question Group 1
Question 1
One of these representations is not like the others. Which one doesn't belong?

Time | Position
0.0s 0.0m "The object is =
1.0s | 40m moving with a :%
2.0s 8.0m constant 4
3.0s | 12.0m speed.” =
4.0s 16.0m




Question 2
One of these representations is not like the others. Which one doesn't belong?

Time | Position

0.0s | 4.0m “The object is -
1.0s | 4.0m moving witha .2
20s | 4.0m constant 2
3.0s | 4.0m speed.” -
4.0s 40m




Question 3

One of these representations is not like the others. Which one doesn't belong?

position

“The object is
not moving - it
is a rest.”

Time | Position
0.0s 40m
10s 40m
2.0s 40m
3.0s 40m
40s 40m




Question 4

One of these representations is not like the others. Which one doesn't belong?

position

"The object is
not moving - it
is arest.”

Time | Position
0.0s 0.0m
1.0s 40m
2.0s 8.0m
3.0s 120m
40s 16.0m




Question Group 2
Question 5
One of these representations is not like the others. Which one doesn't belong?

"The objectis
) ® o o o 8] O .) Speeding up."

position




Question 6
One of these representations is not like the others. Which one doesn't belong?

"The objectis
speeding up.” BRI

position




Question 7
One of these representations is not like the others. Which one doesn't belong?

= "The objectis
EE— mOVingWith )o ® o o o o o)
S a constant
Q "
speed.




Question 8
One of these representations is not like the others. Which one doesn't belong?

"The object is
moving with Jo o o o o o o
a constant

speed.”

position




Question Group 3
Question 9
One of these representations is not like the others. Which one doesn't belong?

"The object is
speeding up )o ® o o o o o)
(i.e. increasing
speed).”

position




Question 10

One of these representations is not like the others. Which one doesn't belong?

Jo o o o o o o

position

"The object is
speeding up
(i.e. increasing
speed).”



Question 11
One of these representations is not like the others. Which one doesn't belong?

The object is = "The object is
moving to the right. =) .
g to the rig = .spe_edmg up
—> @ (i.e. increasing
) oo o o o o ) =" speed),"




Question 12
One of these representations is not like the others. Which one doesn't belong?

- The object is "The object is
:g moving to the right. speeding up
2 —> (i.e. increasing
(=¥ ) ee o o o o ) speed)."




Question Group 4
Question 13
One of these representations is not like the others. Which one doesn't belong?

"The object is The object is =
slowing down moving to the right. .g
(i.e. decreasing — 'g
o

speed)." ( o e o o oo(




Question 14
One of these representations is not like the others. Which one doesn't belong?

].'he object i.? = "The Obj ectis
moving to the right. 3% slowing down
—> 2 (i.e. decreasing
( o o ® o o0 ( o, speed)."




Question 15
One of these representations is not like the others. Which one doesn't belong?

Time | Position

0.0s 0.0 m = "The object is
1.0s | 8.0m = speeding up
20s | 12.0m 2 (i.e. increasing
3.0s | 14.0m - speed).”
4.0s 150m t




Question 16
One of these representations is not like the others. Which one doesn't belong?

Time | Position
"The object is = 00s | 0.0m
: S
speeding up o= 1.0s | 80m
. - . «
(i.e. increasing 2 2.0s | 12.0m
speed). R 3.0s | 14.0m
t 4.0s 15.0 m




Question Group 5
Question 17

One of these representations is not like the others. Which one doesn't belong?

+

"

~

)

o0 t

p—

)

>
Time | Velocity
0.0s 0.0 m/s
1.0s 4.0 m/s
2.0s 8.0 m/s
3.0s | 12.0m/s
40s | 16.0m/s

Jo o o o o v o)

"The object is
moving with a
constant
speed.”



Question 18
One of these representations is not like the others. Which one doesn't belong?

+ Time | Velocity
E: 0.0s 0.0 m/s
(P

20 t 1.0s 4.0 m/s

g 2.0s 8.0 m/s

3.0s |12.0m/s

i 4.0s | 16.0m/s
"The object is
moving with a

constant ) Lt ')

speed.”



Question 19
One of these representations is not like the others. Which one doesn't belong?

+ Time | Velocity
.*? / 0.0s | 4.0m/s
§0 t 1.0s 4.0 m/s
e>) 2.0s 4.0 m/s

3.0s 4.0 m/s

) 4.0s | 4.0m/s

"The object is

moving with a
constant D
speed.”




Question 20
One of these representations is not like the others. Which one doesn't belong?

Time | Velocity

"The object is 0.0s | 40m/s
moving with a 1.0s | 4.0m/s
constant 20s | 4.0m/s
speed.” 3.0s | 4.0m/s
40s 4.0 m/s

Y 4

L

[ —"]
®
®
®
®
®
®
L.,
velocit
(—]




Question Group 6
Question 21

One of these representations is not like the others. Which one doesn't belong?

Time | Velocity

"The object is 0.0s | 0.0m/s
moving with a 1.0s | 4.0m/s
constant 2.0s | 8.0m/s
speed.” 3.0s |12.0m/s
40s | 16.0m/s

+
The object is z
moving to the right. ¥
%0 t
) o® & o o] o] ) >




Question 22
One of these representations is not like the others. Which one doesn't belong?

M Time | Velocity
Z / 0.0s | 0.0m/s
(]

o0 t 1.0s 4.0 m/s
E’ 2.0s 8.0 m/s

3.0s | 12.0m/s
40s | 16.0m/s

"The object is The object is
moving with a moving to the right.
constant E—

speed.” ).. °c e o o )




Question 23
One of these representations is not like the others. Which one doesn't belong?

+ Time | Velocity
=y 0.0s | 0.0m/s
20 t 1.0s | 4.0m/s
) 2.0s 8.0 m/s
»

3.0s | 12.0m/s
) 40s | 16.0m/s
"The object is The object is

speeding up moving to the right.

(i.e., increasing —

speed).” Jeoeo o o o)




Question 24
One of these representations is not like the others. Which one doesn't belong?

Time | Velocit
The object is y
moving to the right. 0.0s 0.0 m/s
S 1.0s 4.0 m/s

) 2.0s 8.0 m/s

oo o o o o )

3.0s | 12.0m/s
4.0s | 16.0m/s

-+
"The object is =y
speeding up § 0 t
(i.e., increasing 9
speed).” )




Question Group 7
Question 25
One of these representations is not like the others. Which one doesn't belong?

Time | Velocity
The object is 0.0s | 16.0m/s

moving to the right. 1.0s | 12.0m/s
e 2.0s | 8.0m/s

( o o o ooo( 3.0s 4.0 m/s
40s | 0.0m/s

+
"The object is *?
slowing down 30 t
(i.e., decreasing v
speed).” -




Question 26
One of these representations is not like the others. Which one doesn't belong?

+ Time | Velocity
> 0.0s | 16.0m/s

)
> 1.0s | 12.0m/s

S0 t

= 2.0s 8.0 m/s
> 3.0s | 4.0m/s
- 40s 0.0 m/s

The object is "The object is
moving to the right. Slowing down

—> (i.e., decreasing
(o o o eoef speed).”




Question 27
One of these representations is not like the others. Which one doesn't belong?

+ Time | Velocity
> 0.0s 0.0 m/s
)
> 1.0s | -4.0m/s
=1 t
= 2.0s -8.0m/s
> 3.0s |-12.0m/s

- 40s |-16.0m/s

The object is "The object is
moving to the right. slowing down
—> (i.e., decreasing

(o o o enef speed).”




Question 28
One of these representations is not like the others. Which one doesn't belong?

Time | Velocity
The object is 0.0s 0.0 m/s

moving to the right. 1.0s -4.0m/s
—_— 2.0s -8.0m/s

( ° o e o o0 ( 3.0s -12.0 m/s
40s |-16.0m/s

"The object is

slowing down

(i.e., decreasing t
speed).”

+

veloci
(—]




Question Group 8

Question 29
One of these representations is not like the others. Which one doesn't belong?

Time | Velocity

The object is 0.0s 0.0 m/s
moving to the left. 1.0s | -4.0m/s

E 2.0s | -8.0m/s
Jeoo o o o) 3.0s |-12.0m/s
4.0s |[-16.0m/s

+
"The object is o
speeding up =
(i.e., increasing = 0 t
speed).” >




Question 30

One of these representations is not like the others. Which one doesn't belong?

"The object is
speeding up
(i.e., increasing

ity .

veloc
-

speed).”

Time | Velocity
0.0s 0.0 m/s
1.0s | -4.0m/s
2.0s | -8.0m/s
3.0s |-12.0m/s
40s |-16.0m/s
The object is
moving to the left.
ﬁ

)... e o

"




Question 31
One of these representations is not like the others. Which one doesn't belong?

Time | Velocity

"The object is 0.0s | 0.0m/s
speeding up 1.0s | -4.0m/s
(i.e., increasing 20s | -8.0m/s
speed).” 3.0s [-12.0m/s
40s |-16.0m/s

+
o The object is
= moving to the left.
&
Q0 t —
p—
g ( o] s} ® © o0 (




Question 32

One of these representations is not like the others. Which one doesn't belong?

"The object is
speeding up
(i.e., increasing

velocit

y+

(—]

speed).”

Time | Velocity
0.0s 0.0 m/s
1.0s | -4.0m/s
2.0s | -8.0m/s
3.0s |-12.0m/s
40s |[-16.0m/s
The object is
moving to the left.
h

(.

o ...(




Question Group 9
Question 33

One of these representations is not like the others. Which one doesn't belong?

"The object is
moving with a
constant
speed.”
+
= >
.g 2 0
=3 >

B

-

Time Position
0.0s 8.0m
1.0s 8.0m
20s 8.0m
3.0s 8.0m
40s 8.0m







Question 34

One of these representations is not like the others. Which one doesn't belong?

position

o e e e . .2

+ \_
>
S
.
c0 t
p—
?)
>
Time | Position
"The object is 00s | 80m
moving with a 10s | 80m
constant 2.0s 8.0m
speed.” 3.0s 8.0m
40s 8.0m




Question 35

One of these representations is not like the others. Which one doesn't belong?

position

"]

®

(]

]

(]

o

o
L0

veloc

+ ;
>
)
©
0 t
Time | Velocity
"The object is 00s | 40m/s
speeding up 1.0s | 4.0m/s
(i.e., increasing 20s | 4.0m/s
speed).” 3.0s | 40m/s
4.0s 4.0m/s




Question 36

One of these representations is not like the others. Which one doesn't belong?

ity N

=

veloc

"The object is
speeding up
(i.e., increasing
speed).”

-
position

t
Time | Velocity
0.0s 4.0m/s
1.0s 4.0m/s
2.0s 4.0m/s
3.0s 4.0m/s
4.0s 4.0m/s




Question Group 10
Question 37

One of these representations is not like the others. Which one doesn't belong?

¥ ‘_

>
=1L t =
2 w
> g
=%
"The object is The object is

speeding up moving to the right.
(i.e., increasing —_—>
speed).” Jeeo o o o)

t
Time | Velocity
0.0s 0.0m/s
1.0s 4.0m/s
20s 8.0m/s
30s 12.0 m/s
4.0s 16.0 m/s







Question 38

One of these representations is not like the others. Which one doesn't belong?

+
The object is
moving to the right. "?
>
—_— =1L t

? ) =

e o o o ® >
Time | Velocity
"The object is = 00s | 0.0m/s

= © puy

speeding up E 1.0s | 4.0m/s
(i.e., increasing 2 20s | 8.0m/s
speed).” 3.0s |12.0m/s
t 40s | 16.0m/s




Question 39

One of these representations is not like the others. Which one doesn't belong?

+
$ g
~— &
og s 0
e, >
t -
. . . The object is
The object is moving to the left.
.spe.edmg up «—
(i.e., increasing
. ( o o ® © o0 (
speed).

t
Time | Velocity
0.0s 0.0 m/s
1.0s -4.0 m/s
2.0s -8.0m/s
30s |-12.0m/s
40s |-16.0m/s




Question 40

One of these representations is not like the others. Which one doesn't belong?

The object is =
moving to the left. -g
© py
<« S
( o o o O o0 ( n
t
+ Time | Velocity
> "The object is 00s | 00m/s
= (i.e., increasin 2.0s | -8.0m/s
) €., g
> speed).” 3.0s |-12.0m/s
- 40s |-16.0m/s




Question Group 11
Question 41

One of these representations is not like the others. Which one doesn't belong?

The object is =
moving to the left. .g
<« e
) @@ © @ o ) n
+
= "The object is
'g 0 ¢ slowing down
> (i.e., decreasing
> speed).”

t
Time | Velocity
0.0s |[-16.0m/s
1.0s |-12.0m/s
20s | -8.0m/s
3.0s -4.0 m/s
40s 0.0 m/s




Question 42

One of these representations is not like the others. Which one doesn't belong?

"The object is
slowing down
(i.e., decreasing

The object is
moving to the left.

speed).”

ity N

veloc
&

position

t
Time | Velocity
0.0s |-16.0m/s
1.0s |-12.0m/s
2.0s -8.0m/s
3.0s -4.0 m/s
40s 0.0 m/s




Question 43

One of these representations is not like the others

ity N

veloc
[

The object is

moving to the left.

position

"The object is
slowing down
(i.e., decreasing
speed).”

. Which one doesn't belong?

t
Time | Velocity
0.0s |[-16.0m/s
1.0s |-12.0m/s
20s | -8.0m/s
3.0s -4.0 m/s
40s 0.0 m/s




Question 44
One of these representations is not like the others. Which one doesn't belong?

"The ObieCt is The object is
slowing down moving to the left.
(i.e., decreasing —
Speed)-" ) e® o o o o )
+ Time | Velocity
o 0.0s |[-16.0m/s
-

i

1.0s |-12.0m/s

2.0s -8.0m/s

3.0s -4.0 m/s

position
veloc

&

-

t - 40s 0.0 m/s




Question Group 12
Question 45
One of these representations is not like the others. Which one doesn't belong?

"The object is The object is
. moving to the right.
slowing down
(i.e., decreasing —>
speed).” (o o o ooef
+ Time | Position
= - 0.0s 0.0m
'-g '*:")' 10s 8.0m
‘@ S0 t
@ = 20s | 12.0m
= > 30s | 140m
t - 40s | 150m




Question 46
One of these representations is not like the others. Which one doesn't belong?

+
o "The object is
= slowing down
0 t « «
% (i.e., decreasing
> speed).”
Time Position
The object is 0.0s 0.0m
= moving to the right.
= 1.0s | 80m
'g —> 20s | 120m
. (‘ ° "'( 3.0s 14.0 m
t 4.0s 15.0m




Question 47
One of these representations is not like the others. Which one doesn't belong?

5 "The object is
= slowing down
& (i.e., decreasing
= speed).”
t
+ Time | Position
The object is > 0.0s 0.0m
moving to the right. .“:..). 1.0s 80m
—> = 0 t 20s | 12.0m
(. e o ...( > \ 3.0s | 140m
- 40s 150 m




Question 48

One of these representations is not like the others. Which one doesn't belong?

+
S 2
« puy =
= 5
& S0
W
= >
t -
"The object is The object is
slowing down moving to the right.
(i.e., decreasing —_—
speed).” (o o o ooef

S

Time Position
0.0s 0.0m
10s 8.0m
2.0s 12.0m
3.0s 14.0 m
40s 150 m




